Directions

L 06x1.4+0.5x1:
@282 (®)182
©245 @165

(€) None of these

. 11573+27492-19674 =2
(@ 19491 b)21.581
© 19671 @19.391

. 43168~ 11078 =74 12056
(@ 20043 © 18030
(© 20043 (@19034
(©)None of these
2% of 780335 =250
@65 ®)50
ot cabmassriat
. (92-101)+3=7+(-5) i
@-15 ®-06
©15 @06
(©)None of these
36" x5 ~2400° =2
@720 (®) 720000
@R @7
(e) None of these
. 24321
@512 ©)566
(© 554 @338
() None of these
83754~ 42631416471
@ 57594 ) 54564
(©)595.74 @s1s84
(©)None of these
4809647 =167x9
(@ 1646 ®)1432
© 1024 @ 1208
(€) None of these

(€) None of these

3674

1-25):What should come in place
faestionmark () i thefollowing quesions?

(@ 85 (®)835
(© 7975 @7
(€) None of these:

s T
25 of 17 of 7280
@ 116 (b) 124
©48 @9

12, 635-345+246= 2+ (15)"

@415 ®)411
(@315 @31
(¢) None of these.

13. 9% of S600 - 45% of 340 =2
@ 331

4,

15

16.

1.

(®) 401

(@ 931 @3s1
(&) None of these
(12X7)=(13%5)- I

4
@il

3

2 @ 9%
©1 @

(€) None of these
66% of 2 +61=490

(@) 750 (b)850
(© 650 @350
(&) None of these
VI5x163+5-89

@15 ®)25

© 10 @20
(c) None of these

3562-12.67+1596=2-43.22
(@ 8513 ®)82.13
(© 8713 @83.13

(€) None of these

2 or55 %ot 1500=7
i

(@) 395 (b)392
(© 375 @372
(2) None of these.



18, (3627547624 (-3) ©s04 @24

@-120 ® 120 (o) Noneof these
©-160 @160 29, Difference between 71% and 58% of s number
o e of thske 15299, What will be 67% of same number?
20, 2315+ 25448223547 @ 1608 () 1407
@91 9% © 1541 @147
©95 @96 () None of these
o e 5 st 30. Average of § consecutive odd numbers s 95
21, 74,698 +0.365 85213 +0095 =7 Find peocuet i 0 e
(@) 160281 (6) 160,641 (8] 9315, (b) 9405
© 160371 @ 160362 0 220 @
©) None of these (ol tna ofilesy
4XB5x25 31, Sumit bought an rtice for ¥ 6500/- and sold it
s at the gain of 24%. From that amount he
purchased another article and sold i at the loss
o 35 £ 20%. Find overal gainfloss %
é:; e @) Lossof €42 (b) Gain of 42
€) None o these
(Ol (©) Lossof€52:  (d)No proficno loss
Rt (0)None of these
@4 [on 32. What should come in place of question mark (7).
©4 @4 >
(&) None of these o
24, (444 x44x4)+40=7 studymaterials.o 3 (,,i
19536 o ® o e
o 3
©1776 @17365 (it 5!
(e)None of these o Ll
25, 4550+25 % of 7= 130 (8 Nouc of fice
s i 33, What will be 74 % of S8 of 12007
© 125 @160 @ 555 ®)565
() None of these (© 45 @455
(©)Noneof these
26. A shopkeeper charges 29% more than cost ¢
A Shopkeper e 20% mare U <ot 54, Montiy income of M Is 34 of monty
i thn i cot pic fcomput bl sl s
i iy - then annal income of Mani.
©raso- @F s675/- ) Cave RS 0T 3 T
s G © T304k (@F 4220akh
Noneof these
Rl e i ey ok e e Sn b
el o e of il Fid
@ 12yenrs (©)24 years N 5
(© 36 years @483 9 e dplieor
e © 13200 (@ 154 en?
(¢)None of these
28, A canteen requies 42 dors i )
o e UDDles N8 WEek. 3. et of7 boys afe 70 ke, 64 ke, 55 ke, S1kg

how many spples will be needed i 39 days? N el
) 294 5 3 ind average weig
® ©)273 e e



g

&

s

. The simple interest accrued on a sum of

(@ 65k
(6) None of these:

@73ke

T
0/-in 5 yearsis 1/10 of principal. Find rte

of 1

@5

@6

(&) None of these

4
@2

. Monthly income of Mira is 2/5 of Kishan.

Annual income of kishan is  2.13 lakh. Find
‘annual income of Mira
(@ 272,000

(©) 85200

(&) None of these
Ruchita secure 43 marks i Hindi, 45 marks in
Science, 67 marks in Maths, 89 marks in
Science and 65 marks in English out of 120
marks in cach paper. Find her overall % of
marks,

(b) 784,200
(@ 271,000

(@551
©65

(€) None of these:
Six bays can finish a work in 24 hrsgfg,
many hours 9 boys will finish the same wor
@18 ®)16

®)sLs
@e

@n @14
(@) None of these
. In how many different ways letersof the word
COMET be armanged?
@120 (b4
(© 80 @100

(6) None of these.
Costof 21 kg of sugar is T 546/~ and cost of 19
ke oftea is 342.-. What il be total costof 34
kg sugar and 63 kg of ea >

(720201

(®)T 1998

(© 2018

(d) Cannot b determined

(&) None of these
43. What should come in place of question mark (7)

i the given series

654 646 630 7 574 534

(@) 606 () 614

(©) 598 @62

(¢) None of these.
44. What least number must be subtracied from

9068 to make it a perfect square number?
(@ 148 )51
(©) 189 @4
(¢) None of these
45. 786 times 467 =2
(@) 367529 (b) 367062
(©) 366276 (366595

Direction (46-50): I eackof these questons a

elationshipis given with a guestion mark (?) i

place of the correct symibol. Based upon the

values on the right hand sde and left hand side

ofthe queston mark you have to decide which

oftefllowing mbol il cone nplaceof e
Mhaterialssston mark

Give saver I s, of quion k()

following will come
@ > (greater than)
®) = (equal 10)
© < (less than)
@ 2 (greatr than or equal t0)
© < (smaller than or equal o)

46, [{60~(3)7}x 412 £[v144 x/289]
17, —[{78+156}+ 125] 2 —[(29+2)x0.5]
8T~ B x(25)]? (04 42+ 1.9)]
9. [276- (36-481] ? [(12)° x2]

SO £[(5205+532) VIR
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